BCL6 Chr3 187,456,131

A=-8.91x10 %3 A=-0.0104

A=-2.35x10"%* A=-1.62x10"*

p=0.0512 p=1.0000 p=0.8685 p=0.9425
100
<
< 80
c
e
<
=, 60
=
O
-
< 40
Z
()
20
O_
control PE PE+SGA control PE PE+SGA
n=12 n=14 n=12 n=12 n=8 n=6
pretern1 term
BCL6 Chr3 187,456,193
A=-3.41x10"%% A=-4.19x10™% A=0 A= 1.38x107%
p=0.8615 p=0.3384 p=0.2184
100
s
< 804
c
e
<
=, 60
=
O
-
< 40
Z
()
20
O_
control PE PE+SGA control PE PE+SGA
n=11 n=14 n=12 n=11 n=8 n=6
pretern1 term
BCL6 Chr3 187,456,263
A=-4.17x10"%% A=-3.47x107% A=-9.43x10"%° A=-9.43x10"®
p=0.2948 p=0.9498 p=0.4555 p=0.5383
100
s
< 80
c
e
<
=, 60
=
O
-
< 40
Z
(@)
20
O_
control PE PE+SGA control PE PE+SGA
n=11 n=14 n=12 n=11 n=8 n=6

preterm

term
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BCL6 Chr3 187,456,175

A=0.0915  A=0.0448 A= 4.99x10°%% A= 7.16x107%
p=0.0946 p=0.1326 p=0.6344 p=0.6782
control PE PE+SGA control PE PE+SGA
n=12 n=14 n=12 n=12 n=8 n=6
preterm term
BCL6 Chr3 187,456,218
A= 3.80x107%* A= 5.36x10"% A= 1.30x107%% A=0.0138
p=0.7651 p=0.0373 p=0.8255 p=0.0265
e
control PE PE+SGA control PE PE+SGA
n=9 n=6 n=8 n=4 n=3 n=4
preterm term
BCL6 Chr3 187,456,269
A= 1.10x107%% A=0 A=0 A= 4.33x107%
p=0.2220 p=0.2184
control PE PE+SGA control PE PE+SGA
n=11 n=14 n=12 n=11 n=8 n=6
preterm term
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BCL6 Chr3 187,456,181

A=1.11x10"%* A= 2.07x107%*

A=1.92x10"% A=-3.90x107%*

p=0.6103 p=0.5139 p=0.6993 p=0.9425
control PE PE+SGA control PE PE+SGA
n=12 n=14 n=12 n=12 n=8 n=6
preterm term
BCL6 Chr3 187,456,251
A= 1.97x107%% A=-1.13x10"" A=-4.88x10"% A=-4.88x107%*
p=0.9284 p=0.8360 p=0.5637 p=0.4533
control PE PE+SGA control PE PE+SGA
n=8 n=6 n=8 n=4 n=3 n=4
preterm term
BCL6 Chr3 187,456,278
A=-0.0534  A=-0.0890 A=-3.70x10" A=-3.70x10™ %
p=0.9737 p=0.7614 p=0.4750 p=0.5557
control PE PE+SGA control PE PE+SGA
n=12 n=14 n=12 n=12 n=8 n=6

preterm

term
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BCL6 Chr3 187,456,284

A=5.37x10"%* A= 2.35x107°

A=-3.74x10"% A=-2.02x107%*

p=0.3258 p=0.1129 p=0.2667 p=0.9425
PE PE+SGA control PE PE+SGA
n=14 n=12 n=12 n=8
preterm term

BCL6 Chr3 187,456,323

A=-4.40x10"%* A=-5.28x10"%*

A=-1.99x10"%% A=-2.09x107®

p=0.4776 p=0.5420 p=0.7999 p=0.6070
PE PE+SGA control PE PE+SGA
n=14 n=12 n=12 n=8
preterm term
BCL6 Chr3 187,456,336
A= 3.07x107%* A= 0.0449 A=0.1299 A= 0.1594
p=0.1909 p=0.1129 p=0.4467 p=0.1807

—

PE PE+SGA control

n=14 n=12 n=12
preterm

PE
n=8

term

PE+SGA

BCL6 Chr3 187,456,305

A=-1.15x10"2 A=-2.46x107
p=1.0000 p=0.4504
100+

0
?

DNA methylation (%)
o
o

A=-2.26x10"%%A=-1.38x10"°

p=0.4398 p=0.8589

40
20
O_
control PE PE+SGA control
n=12 n=14 n=12 n=12
preterm
BCL6 Chr3 187,456,332
A=0.0668  A=-4.38x10"%
p=0.1570 p=0.5807
100

0
?

DNA methylation (%)
o
o

PE+SGA

A= 2.37x107%% A= 0.1675

p=0.7671 p=0.0537

40
20
b w
control PE PE+SGA control
n=12 n=14 n=12 n=12
preterm
BCL6 Chr3 187,456,362
A=-0.0271 A=-0.0371
p=1.0000 p=0.4473
100

0
?

DNA methylation (%)
o
o

40
20
O_ a e —— P — e
control PE PE+SGA control
n=17 n=17 n=14 n=15
preterm

PE+SGA

A=-6.31x10"2% A= 0.0232

p=0.5692 p=0.6840

I
PE+SGA
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BCL6 Chr3 187,456,315

EE—

A=-5.11x10"2 A=-4.04x10"" A=0.0121 A=-3.20x10"%
p=0.3900 p=0.9141 p=1.0000 p=0.6070
- —— -
PE PE+SGA control PE PE+SGA
n=14 n=12 n=12 n=8 n=6
preterm term

BCL6 Chr3 187,456,334

A= 0.0379 A=—1.10x107%3 A=-0.0830 A= 0.0839
p=0.1085 p=0.7145 p=1.0000 p=0.2646

—

PE PE+SGA control PE PE+SGA
n=14 n=12 n=12 n=8 n=6
preterm term

BCL6 Chr3 187,456,381

A=-0.0212  A=-0.0275 A=-6.28x10"2% A= 0.0227

p=0.6648 p=0.0972 p=0.8345 p=0.9705
] - ] —e i
PE PE+SGA control PE PE+SGA
n=17 n=14 n=15 n=8 n=10
preterm term



BCL6 Chr3 187,456,397

A=-0.0274

p=0.0972

PE+SGA control
n=14 n=15

BCL6 Chr3 187,456,441

A=0.0143 A= 0.0224

p=1.0000 p=0.7963

E— i
PE PE+SGA
n=8 n=10
term

A=-0.0455 A=-5.28x10"%° A= 1.09x10™ %

p=0.9523 p=1.0000 p=0.8013

PE+SGA control PE PE+SGA
n=6 n=9 n=3 n=4

BCL6 Chr3 187,456,486

term

A=-0.0207
p=0.7828
100
<
< 80
c
e
<
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=
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-
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Z
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20
O_ i R .
control PE
n=17 n=17
preterm
A=-0.0455
p=0.3226
100
s
< 804
c
e
<
=, 60
=
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-
< 40+
Z
()
20
o)
control PE
n=10 n=6
preterm
A=-0.0123
p=0.2623
100
s
< 80
c
e
<
=, 60
=
(<}
-
< 40+
Z
()
20
O_ EEEEE——
control PE
n=10 n=6

preterm

A=-0.0121 A=-6.23x10"%* A= 3.65x10™%
p=0.3683 p=0.4773 p=0.5095
PE+SGA control PE PE+SGA
n=8 n=9 n=3 n=4
term

BCL6 Chr3 187,456,421

A=-0.0260

p=0.6537

PE+SGA control
n=14 n=15

BCL6 Chr3 187,456,447

A=-5.95x10"22 A= 2.63x107*°

p=0.9094 p=0.7632
PE PE+SGA
n=8 n=10

term

A=-0.0469 A=-3.56x10"%* A=—3.56x10*
p=0.1348 p=0.7003 p=0.6171
PE+SGA control PE PE+SGA

n=6 n=9 n=3 n=4

BCL6 Chr3 187,456,515

term

A=-0.0212
p=0.5505
100
s
< 804
c
e
<
=, 60
=
O
-
< 40+
Z
()
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O_ i R .
control PE
n=17 n=17
preterm
A=-0.0472
p=0.0559
100
<
< 804
c
e
<
=, 60
=
O
-
< 40+
Z
()
20
o)
control PE
n=10 n=6
preterm
A=-0.0460
p=0.3226
100
s
< 80
c
e
<
=, 60
=
O
-
< 40+
Z
()
20
o)
control PE
n=10 n=6
preterm

A=-0.0466 A= 2.05x107%% A=-1.05x10"%
p=0.2623 p=0.6274 p=1.0000
PE+SGA control PE PE+SGA

n=6 n=9 n=3 n=4

term

BCL6 Chr3 187,456,434

A=-8.08x10"2% A=-9.08x107°

p=0.8345 p=0.0903
control PE PE+SGA
n=15 n=8 n=10
term

BCL6 Chr3 187,456,464

A=-0.0163 A=-0.0163
p=0.0624 p=0.1484
100
s
< 80-
c
e
<
=, 60
=
(<}
-
< 40
Z
()
20
0- —
control PE PE+SGA
n=17 n=17 n=13
preterm
A=-0.0442 A=-0.0462
p=0.2620 p=0.3700
100
s
< 80-
c
e
<
=, 60
=
(<}
-
< 40
Z
()
20
o)
control PE PE+SGA
n=10 n=6 n=6
preterm
A=-0.0213 A=-0.0276
p=0.5168 p=0.1283
100
s
< 80-
c
e
<
=, 60
=
(<}
-
< 40
Z
()
20
O_ i R . P —
control PE PE+SGA
n=17 n=17 n=13
preterm

A=-1.04x10"% A=-1.50x10"°*

p=0.3317 p=1.0000
control PE PE+SGA
n=9 n=3 n=4
term

BCL6 Chr3 187,456,525

A=-5.26x10"22A=-9.15x10"°

p=0.9727 p=0.2219
]
control PE PE+SGA
n=15 n=8 n=10
term
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BCL6 Chr3 187,456,528

A=-0.0285  A=-0.0377 A=-5.94x10"" A= 6.69x10™%
p=0.3385 p=0.0418 p=0.3014 p=0.8147
100+
o
< 804
c
ie)
<
=, 607
=
)
=
< 40
Z
(@)
20~
i e ——— E— 0-
PE PE+SGA control PE PE+SGA
n=17 n=13 n=15 n=8 n=10
pretern1 term
BCL6 Chr3 187,456,565
A=-2.09x10"%3A=-0.0274 A=-9.13x10"%3 A= 0.0215
p=0.7047 p=0.2052 p=0.9643 p=0.2777
100+
o
< 804
c
ie)
<
=, 607
=
)
=
< 40
Z
(@)
20~
i I —_— i 0-
PE PE+SGA control PE PE+SGA
n=17 n=14 n=15 n=8 n=10
pretern1 term
BCL6 Chr3 187,456,629
A= 1.55x107%% A=0 A=-1.74x10" A=-1.25x10"%
p=0.1893 p=0.1930 p=0.9090
100+
o
< 80
c
ie)
<
=, 607
=
)
=
< 40
Z
(@)
20~
O_
PE PE+SGA control PE PE+SGA
n=11 n=10 n=10 n=9 n=3

preterm term

BCL6 Chr3 187,456,543

A=-0.0174  A=-0.0265 A=-7.36x10"2% A= 0.0220
p=0.9706 p=0.3505 p=0.1389 p=0.7781
i I —— —_— e — i
control PE PE+SGA control PE PE+SGA
n=17 n=17 n=14 n=15 n=8 n=10
preterm term
BCL6 Chr3 187,456,579
A=-0.0214 A=-0.0277 A=—6.49x10"°3 A= 3.03x107%°
p=0.5813 p=0.0789 p=0.6066 p=0.9200
i ] - ]
control PE PE+SGA control PE PE+SGA
n=17 n=17 n=14 n=15 n=8 n=10
preterm term
BCL6 Chr3 187,456,652
A=0 A=0 A=0 A=0
control PE PE+SGA control PE PE+SGA
n=10 n=11 n=10 n=10 n=9 n=3
preterm term

BCL6 Chr3 187,456,550

A=-0.0212  A=0.0365 A=—6.18x10"23 A= 0.0238
p=0.6222 p=0.3308 p=0.8345 p=0.2200
100
s
< 80
c
e
<
=, 60
=
(<}
-
< 40
Z
()
20
O_ i R . ; e N i
control PE PE+SGA control PE PE+SGA
n=17 n=17 n=14 n=15 n=8 n=10
preterm term
BCL6 Chr3 187,456,625
A= 2.46x107%* A=0 A=-5.18x10"%* A=-3.50x10"
p=0.3908 p=0.3991 p=0.5017
100
s
< 804
c
e
<
=, 60
=
(<}
-
< 40
Z
()
20
O_
control PE PE+SGA control PE PE+SGA
n=10 n=11 n=10 n=10 n=9 n=3
preterm term
BCL6 Chr3 187,456,734
A=0 A=0 A=0 A=0
100
s
< 804
c
e
<
=, 60
=
(<}
-
< 40
Z
()
20
O_
control PE PE+SGA control PE PE+SGA
n=5 n=5 n=4 n=6 n=4 n=3
preterm term
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BCL6 Chr3 187,456,742

A=-5.88x10"22A=-2.88x10"" A=0 A=0
p=0.4237 p=1.0000
control PE PE+SGA control PE PE+SGA
n=5 n=5 n=4 n=6 n=4 n=3
pretern1 term
BCL6 Chr3 187,456,781
A=-0.0126  A=-0.0108 A=-9.35x10"%* A=—4.29x10™%
p=0.7286 p=0.3870 p=0.3991 p=0.5017
——
control PE PE+SGA control PE PE+SGA
n=10 n=11 n=10 n=10 n=9 n=3
pretern1 term
BCL6 Chr3 187,456,874
A=-0.0407  A=-0.0344 A= 4.26x10"% A= 3.57x10™®
p=0.2055 p=0.6059 p=0.5061 p=0.4794
control PE PE+SGA control PE PE+SGA
n=14 n=16 n=14 n=16 n=9 n=8
pretern1 term
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BCL6 Chr3 187,456,755

A=0 A=0 A=0 A=0
control PE PE+SGA control PE PE+SGA
n=5 n=4 n=4 n=6 n=4 n=2

preterm term
BCL6 Chr3 187,456,814
A=0 A= 5.26x10"% A= 9.97x107%% A=0
p=0.3681 p=0.3428
control PE PE+SGA control PE PE+SGA
n=10 n=11 n=10 n=10 n=9 n=3
preterm term

BCL6 Chr3 187,456,893

A=1.87x10"% A=-2.15x10"%*

A= 4.77x10"% A=-1.55x107%*

p=0.0424 p=0.3651 p=0.6855 p=0.6373
control PE PE+SGA control PE PE+SGA
n=14 n=16 n=14 n=16 n=9 n=8
preterm term

100+

0
?

DNA methylation (%)
5 (o))
? ?

20

100+

0
?

DNA methylation (%)
5 (o))
? ?

20

100+

0
?

DNA methylation (%)
5 (o))
? ?

20

BCL6 Chr3 187,456,771

A=0.0473 A= 2.29x107%3 A=0 A=0
p=0.3711 p=0.3711
control PE PE+SGA control PE PE+SGA
n=5 n=4 n=4 n=6 n=4 n=2
preterm term
BCL6 Chr3 187,456,829
A=-4.58x10"" A= 1.97x10™ % A=-1.31x10"%°A=-5.18x10"%*
p=0.9449 p=0.5842 p=1.0000 p=0.7150
control PE PE+SGA control PE PE+SGA
n=10 n=11 n=10 n=10 n=9 n=3
preterm term
BCL6 Chr3 187,456,971
A=-1.00x10"2 A= 1.05x10™% A= 2.00x10"% A=-1.20x107%
p=0.6510 p=0.4492 p=0.7563 p=0.4208
control PE PE+SGA control PE PE+SGA
n=15 n=18 n=14 n=16 n=9 n=8
preterm term
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E—

control
n=16

———

control
n=17

——

control
n=17

BCL6 Chr3 187,457,055

A=-4.97x10"%4 A= 0.0144

p=0.6339 p=0.1464
(R ——
PE PE+SGA
n=7 n=6
term

A= 5.15x10"%% A= 0.0194

p=0.4358 p=0.0180
[
PE PE+SGA
n=7 n=6
term

A=—2.00x10"°* A= 0.0140

A=-0.0361 A=-0.0356
p=0.9837 p=0.9511
PE PE+SGA control
n=17 n=17 n=18
preterm
BCL6 Chr3 187,457,095
A=-0.0196 A=-0.0153
p=0.8764 p=0.4872
PE PE+SGA control
n=17 n=17 n=18
preterm
BCL6 Chr3 187,457,151
A=-0.0199 A=-0.0194
p=0.1848 p=1.0000
PE PE+SGA control
n=17 n=17 n=18

preterm

p=0.4033 p=0.0672
e
PE PE+SGA
n=7 n=6

term
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BCL6 Chr3 187,457,067

A=-6.24x10"%4 A= 0.0127

A=-9.49x10™%

p=0.4435

PE+SGA control
n=17 n=18

BCL6 Chr3 187,457,128

p=1.0000 p=0.4544
e
PE PE+SGA
n=7 n=6
term

A= 3.56x10"%% A= 0.0137

A=-0.0198

p=0.9518

PE+SGA control
n=17 n=18

BCL6 Chr3 187,457,154

p=0.6569 p=0.5689
e
PE PE+SGA
n=7 n=6

term

A=-5.13x10"%4 A= 0.0151

A=-0.0116
p=0.6867
e —
control PE
n=17 n=17
pretern1
A=-0.0182
p=0.9059
E—
control PE
n=17 n=17
pretern1
A=-0.0196
p=0.8245
E—
control PE
n=17 n=17
pretern1

A=-0.0202

p=0.1832

PE+SGA control
n=17 n=18

p=0.2838 p=0.0225
e —
PE PE+SGA
n=7 n=6
term
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BCL6 Chr3 187,457,084

A= 1.59x10"%* A= 7.84x107%°

p=1.0000 p=0.0796
e ——
PE PE+SGA
n=7 n=6

term

A=9.42x10"%* A=0.0171

A=-0.0202 A=-0.0194
p=0.9698 p=0.8773
E—
control PE PE+SGA control
n=17 n=17 n=17 n=18
preterm
BCL6 Chr3 187,457,144
A=-0.0198 A=-0.0195
p=0.8358 p=0.8454
E—
control PE PE+SGA control
n=17 n=17 n=17 n=18
preterm
BCL6 Chr3 187,457,175
A=-1.66x10"* A=-5.69x10 %
p=0.9316 p=0.5817
control PE PE+SGA control
n=16 n=17 n=17 n=18
preterm

p=0.4358 p=0.2803
Ee——
PE PE+SGA
n=7 n=6
term
A= 0.0405 A= 0.0137
p=0.2362 p=0.5689

—

PE PE+SGA
n=7 n=6
term
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BCL6 Chr3 187,457,177

A=-0.0596  A=-0.0629 A=-9.30x10"%% A= 4.59x107°3
p=0.5058 p=0.8222 p=0.4033 p=0.7719
—— R
control PE PE+SGA control PE PE+SGA
n=16 n=17 n=17 n=18 n=7 n=6
preterm term
BCL6 Chr3 187,457,248
A=0 A= 1.43x107% A=2.67x10"° A=-3.34x107%*
p=0.2152 p=0.3068 p=0.6511
control PE PE+SGA control PE PE+SGA
n=9 n=10 n=11 n=11 n=3 n=4
preterm term
BCL6 Chr3 187,457,278
A= 0.0421 A= 1.53x107%3 A=0
p=0.3865 p=0.3608
control PE PE+SGA control PE PE+SGA
n=4 n=3 n=8 n=7 n=1 n=3
preterm term
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BCL6 Chr3 187,457,212

A=-0.0695 A=-0.1299 A=0.3124 A=-6.28x10"%
p=0.3541 p=0.6024 p=0.1817 p=0.4219
control PE PE+SGA control PE PE+SGA
n=8 n=10 n=11 n=8 n=3 n=2
preterm term
BCL6 Chr3 187,457,264
A=0 A=0 A=0.0270 A=0
p=0.0817
e e
control PE PE+SGA control PE PE+SGA
n=9 n=10 n=11 n=11 n=3 n=4
preterm term
BCL6 Chr3 187,457,287
A=-0.1126 A=-0.1129 A=-0.0897 A=-0.0855
p=0.4406 p=0.1257 p=0.5230 p=0.8519
control PE PE+SGA control PE PE+SGA
n=9 n=10 n=11 n=11 n=3 n=4
preterm term
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BCL6 Chr3 187,457,231

A=-1.58x10"22A=-1.58x10"" A=0 A=0
p=0.3143 p=0.2864
control PE PE+SGA control PE PE+SGA
n=8 n=10 n=11 n=8 n=3 n=2
preterm term
BCL6 Chr3 187,457,276
A=0 A= 4.21x107% A=-2.50x10"%* A=-2.50x10"%*
p=0.2152 p=0.7277 p=0.6511
control PE PE+SGA control PE PE+SGA
n=9 n=10 n=11 n=11 n=3 n=4
preterm term
BCL6 Chr3 187,457,294
A=-0.1202 A=-0.1237 A=0.2041 A=-0.0922
p=0.8548 p=0.7723 p=0.8454 p=0.3046
control PE PE+SGA control PE PE+SGA
n=8 n=10 n=11 n=11 n=3 n=4
preterm term




BCL6 Chr3 187,457,307

A=0 A=0 A=0 A=0.1189
p=0.1317
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BCL6 Chr3 187,457,457
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control PE PE+SGA control PE PE+SGA
n=10 n=9 n=7 n=7 n=3 n=4
preterm term
BCL6 Chr3 187,457,477
A= 0.0351 A=-1.85x10723 A=0 A=0
p=0.5240 p=0.4624
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control PE PE+SGA control PE PE+SGA
n=15 n=15 n=10 n=14 n=6 n=7
preterm term
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BCL6 Chr3 187,457,316

A=-3.27x10"2 A=-2.45x10"" A=0 A=0
p=0.3428 p=0.8841
control PE PE+SGA control PE PE+SGA
n=9 n=10 n=11 n=11 n=3 n=4
preterm term
BCL6 Chr3 187,457,468
A=0 A=0 A=0 A=0
control PE PE+SGA control PE PE+SGA
n=10 n=9 n=7 n=7 n=3 n=4
preterm term
BCL6 Chr3 187,457,500
A=-4.88x10"2 A= 0.0108 A=-3.49x10 2 A=-2.15x10""
p=0.6476 p=0.2533 p=0.6548 p=0.6325
EE—
control PE PE+SGA control PE PE+SGA
n=17 n=19 n=19 n=17 n=7 n=8
preterm term
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BCL6 Chr3 187,457,350

A= 3.05x10794 A=0 A=0 A=0
p=0.4338
control PE PE+SGA control PE PE+SGA
n=8 n=10 n=11 n=8 n=3 n=2
preterm term
BCL6 Chr3 187,457,475
A=-5.58x10"2% A=—9.55x10™*® A=0 A=0
p=0.5630 p=0.2574
control PE PE+SGA control PE PE+SGA
n=10 n=9 n=7 n=7 n=3 n=4
preterm term
BCL6 Chr3 187,457,520
A=-5.02x10"%% A= 3.09x10™ %3 A=-1.25x10"2 A= 1.59x10™ %3
p=0.8454 p=0.0710 p=0.6108 p=0.3457
control PE PE+SGA control PE PE+SGA
n=17 n=17 n=19 n=16 n=7 n=7
preterm term



BCL6 Chr3 187,457,522

A=-2.79x10"%3 A= 0.0213

A=3.28x10"% A= 3.27x107%

p=0.7283 p=0.3955 p=0.8288 p=0.2683
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< 40
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0- e
control PE PE+SGA control PE PE+SGA
n=17 n=17 n=19 n=16 n=7 n=7
preterm term
BCL6 Chr3 187,457,547
A=-6.20x10"%* A= 5.58x107%* A=-1.88x10"%% A= 1.51x107%
p=0.8454 p=0.1999 p=0.6771 p=0.1461
100
s
< 804
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< 40
Z
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control PE PE+SGA control PE PE+SGA
n=17 n=17 n=19 n=16 n=7 n=7
preterm term
BCL6 Chr3 187,457,675
A=0 A=0 A=0 A=0
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control PE PE+SGA control PE PE+SGA
n=4 n=3 n=3 n=4 n=3 n=2
preterm term
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BCL6 Chr3 187,457,527

A=-3.84x10"2 A=-8.61x107

A=-1.97x10"%" A= 2.34x107%°

p=0.5929 p=0.3198 p=0.9597 p=0.2430
e —— N N
control PE PE+SGA control PE PE+SGA
n=17 n=17 n=19 n=16 n=7 n=7
preterm term
BCL6 Chr3 187,457,588
A=-0.4375 A=-0.4294 A=0 A=0
p=0.2703 p=0.5585
control PE PE+SGA control PE PE+SGA
n=4 n=3 n=3 n=4 n=3 n=2
preterm term
BCL6 Chr3 187,458,033
A=-1.66x10""A= 5.92x10™® A=-1.37x10"A=-8.66x107%*
p=0.3851 p=0.2570 p=0.3674 p=0.5071
control PE PE+SGA control PE PE+SGA
n=16 n=14 n=13 n=18 n=8 n=8
preterm term
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BCL6 Chr3 187,457,543

A=2.06x10"%* A= 3.28x107%

A=-1.02x10"%2 A= 1.34x107%°

p=0.7330 p=0.1215 p=0.5475 p=0.1692
control PE PE+SGA control PE PE+SGA
n=17 n=17 n=19 n=16 n=7 n=7
preterm term
BCL6 Chr3 187,457,640
A=0 A=0 A=0 A=0
control PE PE+SGA control PE PE+SGA
n=4 n=3 n=3 n=4 n=3 n=2
preterm term
BCL6 Chr3 187,458,041
A=-2.45x10"%2 A=-2.54x107%* A=-1.03x10"2A=-1.23x107"
p=0.4219 p=0.6494 p=0.8596 p=0.8596
control PE PE+SGA control PE PE+SGA
n=16 n=14 n=13 n=18 n=8 n=8
preterm term
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BCL6 Chr3 187,458,083

A= 0.0509
p=0.9796

A=-0.0819
p=0.2914

isﬁ P

control PE+SGA control
n=15 n= 14 n=13 n=18
preterm
BCL6 Chr3 187,458,146
A=-0.0752 A= 0.0403
p=0.6395 p=0.6915

A=-0.0530 A=-0.1204
p=0.3795 p=0.0771
PE+SGA
n= 7 n=8
term
A=0.2373 A= 0.0595
p=0.0974 p=0.6204

control PE+SGA control PE+SGA
n=18 n14 n=16 n=17 n10 n=8

preterm term

BCL6 Chr3 187,458,198

A=-3.53x10"%* A=-5.53x10"%* A=-9.01x10"% A=-8.96x107%*

p=0.0562 p=4.35x10"% p=0.8109 p=0.6989
control PE PE+SGA control PE PE+SGA
n=19 n=16 n=17 n=17 n=10 n=8

preterm

term

BCL6 Chr3 187,458,095

A= 0.0687 A=0.1883 A=-0.1948 A=-0.0286
p=0.3307 p=0.4527 p=0.0445 p=0.4658
100
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c
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o — E
control PE+SGA control PE PE+SGA
n=15 n= 14 n=13 n=18 n=7 n=8
preterm term
BCL6 Chr3 187,458,156
A=-0.0233 A= 0.0277 A=-0.0850 A=0.1187
p=0.9124 p=0.7812 p=0.2257 p=0.7460
100
<
< 80-
c
e
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=, 60
=
O
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< 40
Z
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- i i
o- i i a
control PE+SGA control PE+SGA
n=18 n15 n=16 n=17 n10 n=8
preterm term
BCL6 Chr3 187,458,209
A=-0.0316  A=-0.0435 A=0.0704  A=7.10x107%
p=0.7275 p=0.6359 p=0.5554 p=0.1008
100
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Z
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0- ; e . E
control PE PE+SGA control PE PE+SGA
n=18 n=15 n=17 n=16 n=10 n=8
preterm term
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BCL6 Chr3 187,458,102

A=0.2322 A=0.1042 A=0.0470 A=0.1122

p=0.1211 p=0.4335 p=0.9036 p=0.4202
control PE+SGA control PE+SGA
n=15 n= 14 n=13 n=18 n=8

preterm term

BCL6 Chr3 187,458,163
A=0.1752 A=-0.0112 A=-0.1155 A=0.0142
p=0.0344 p=0.3876 p=0.4659 p=0.8841

-l

control PE+SGA control PE+SGA
n=18 n= 15 n=16 n=17 n=10 n=8
preterm term
BCL6 Chr3 187,458,264
A=-0.1309  A=-0.1854 A= 0.0666 A= 5.36x10%*
p=0.3925 p=0.0616 p=0.7063 p=0.9768

control PE PE+SGA control PE+SGA
n=18 n=14 n=17 n=17 n=10 n=8
preterm term
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BCL6 Chr3 187,458,327

A=-0.1232 A=-0.0686 A=0.1281 A=0.1432

p=0.0636 p=0.6634 p=5.58x10"%* p=0.0573
control PE PE+SGA control PE PE+SGA

n=15 n=12 n=10 n=13 n=5 n=7
preterm term
BCL6 Chr3 187,458,461
A=-0.1251 A=0.1917 A=0.0280 A=0.1241
p=0.4616 p=0.1180 p=0.3697 p=0.2636

ﬁi ==

control PE+SGA control PE+SGA
n=15 n= 12 n=10 n=13 n= 5 n=7

preterm term

BCL6 Chr3 187,458,584

A=-0.1902 A=-0.2361 A= 0.2928 A=-0.0497

p=0.1661 p=0.0980 p=0.7136 p=0.0719
control PE+SGA control PE+SGA
n=16 n= 14 n=10 n=14 n= 9 n=8

preterm term
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BCL6 Chr3 187,458,369

A=-1.54x10"% A= 0.0218 A=3.07x10"% A=-2.97x107%*

p=0.4123 p=0.0518 p=0.1292 p=0.5294
s e—
control PE PE+SGA control PE PE+SGA
n=15 n=12 n=10 n=13 n=5 n=7
preterm term
BCL6 Chr3 187,458,496
A=-0.1577 A=-0.0957 A=-0.0341 A=-0.1174
p=0.1177 p=0.8532 p=0.4566 p=0.3486
control PE PE+SGA control PE PE+SGA
n=15 n=12 n=10 n=13 n=5 n=7
preterm term
BCL6 Chr3 187,458,589
A=-0.0700 A=-0.1334 A=0.2026  A=5.65x10"%°
p=0.4111 p=0.1893 p=0.2920 p=0.6068

iﬁa ﬁiﬂ

control PE+SGA control PE+SGA
n=16 n= 14 n=9 n=14 n= 9 n=8

preterm term
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BCL6 Chr3 187,458,458

A=0.1163 A=0.0163 A=0.1143 A=-0.2589
p=0.4435 p=0.9102 p=0.8818 p=0.2963
control PE PE+SGA control PE+SGA
n=15 n=12 n=10 n=13 n=7
preterm term

BCL6 Chr3 187,458,539

A=-4.41x10"% A= 2.60x107% A=-9.74x10"%* A= 0.0392

p=0.3986 p=0.6174 p=0.1620 p=0.1268
control PE PE+SGA control PE PE+SGA
n=16 n=14 n=10 n=14 n=9 n=8
preterm term
BCL6 Chr3 187,458,630
A= 0.0455 A= 0.0259 A=—7.32x10"2% A=-0.0810
p=0.6365 p=0.3745 p=0.7274 p=0.4501

control PE PE+SGA control PE PE+SGA
n=16 n=14 n=10 n=14 n=9 n=8
preterm term
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BCL6 Chr3 187,458,651

A=-0.0113
p=0.5680

A=-0.0384
p=0.7899

_— . sl

A=0.2321
p=0.7566

A= 0.0927

p=0.3405

-

control PE PE+SGA control PE PE+SGA
n=16 n=13 n=10 n=13 n=9 n=8
preterm term
BCL6 Chr3 187,458,765
A=0 A= 6.99x107% A=0
p=0.2386
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
BCL6 Chr3 187,458,789
A=0 A=0 A=0
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
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BCL6 Chr3 187,458,758

A=-8.01x10"2A=-8.07x10"" A= 8.91x107%
p=0.8322 p=0.8597 p=0.8923
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
BCL6 Chr3 187,458,777
A=-3.63x10"2A=-4.39x10"" A=0
p=0.8322 p=0.6374
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
BCL6 Chr3 187,458,799
A=0 A=0 A=0
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
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BCL6 Chr3 187,458,761

A= 0.0197 A=0 A=—2.45x107°3
p=0.2440 p=0.4652
E—
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
BCL6 Chr3 187,458,780
A= 0.0250 A= 0.3333 A=0
p=0.4705 p=0.2386
—
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
BCL6 Chr3 187,458,801
A=-6.17x10"2A=-6.17x10"" A=0
p=0.3123 p=0.6374
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
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BCL6 Chr3 187,458,807

A=0 A=0 A=0
PE PE+SGA control PE PE+SGA
n=8 n=3 n=6 n=5 n=1
pretern1 term
BCL6 Chr3 187,458,845
A=0 A=0 NA=0
PE PE+SGA control PE PE+SGA
n=6 n=3 n=3 n=3 n=1
pretern1 term
BCL6 Chr3 187,458,857
A=—6.76x10"2% A=-6.04x10" A=0
p=0.4705 p=0.6497
PE PE+SGA control PE PE+SGA
n=6 n=3 n=3 n=3 n=1
pretern1 term
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BCL6 Chr3 187,458,821

A= 0.0505 A= 2.67x107%3 A=0
p=0.6322 p=0.2202
; — I
control PE PE+SGA control PE PE+SGA
n=8 n=10 n=4 n=6 n=5 n=1
preterm term
BCL6 Chr3 187,458,852
A=0 A= 1.10x107%3 A=0
p=0.0801
control PE PE+SGA control PE PE+SGA
n=8 n=6 n=2 n=3 n=3 n=1
preterm term
BCL6 Chr3 187,458,859
A=0 A=3.53x107% A=0
p=0.1530
control PE PE+SGA control PE PE+SGA
n=8 n=6 n=3 n=3 n=3 n=1
preterm term

100+

0
?

DNA methylation (%)
5 (o))
? ?

20

100+

0
?

DNA methylation (%)
5 (o))
? ?

20

100+

0
?

DNA methylation (%)
5 (o))
? ?

20

BCL6 Chr3 187,458,841

A=0 A=0 NA=0
control PE PE+SGA control PE PE+SGA
n=8 n=6 n=3 n=3 n=3 n=1
preterm term
BCL6 Chr3 187,458,855
A=0 A=0 NA=0
control PE PE+SGA control PE PE+SGA
n=8 n=6 n=3 n=3 n=3 n=1
preterm term
BCL6 Chr3 187,458,863
A=0 A=0 NA=0
control PE PE+SGA control PE PE+SGA
n=8 n=6 n=3 n=3 n=3 n=1
preterm term
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BCL6 Chr3 187,458,877
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preterm term

BCL6 Chr3 187,459,076
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n=1 n=1 n=3 n=1 n=0 n=0
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BCL6 Chr3 187,459,230
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n=1 n=1 n=4 n=1 n=0 n=0
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BCL6 Chr3 187,458,888

A=0.0258  A=4.50x107°3 A=1.69x107%
p=0.2440 p=0.0518 p=0.3613
e
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
BCL6 Chr3 187,459,194
control PE PE+SGA control PE PE+SGA
n=1 n=1 n=4 n=1 n=0 n=0
preterm term
BCL6 Chr3 187,459,240
control PE PE+SGA control PE PE+SGA
n=1 n=1 n=4 n=1 n=0 n=0
preterm term
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BCL6 Chr3 187,458,918

A=-6.17x10"2A=-6.17x10"" A=-7.82x10"%
p=0.3123 p=0.6374 p=0.4652
control PE PE+SGA control PE PE+SGA
n=6 n=8 n=3 n=6 n=5 n=1
preterm term
BCL6 Chr3 187,459,217
control PE PE+SGA control PE PE+SGA
n=1 n=1 n=4 n=1 n=0 n=0
preterm term
BCL6 Chr3 187,459,269
A=-0.0337 A=-0.0231 A=-0.0370 A=-0.0254
p=0.9674 p=0.4460 p=0.6442 p=0.6717
control PE PE+SGA control PE PE+SGA
n=13 n=13 n=12 n=15 n=5 n=7
preterm term



BCL6 Chr3 187,459,281 BCL6 Chr3 187,459,297 BCL6 Chr3 187,459,329

A= 8.68x10"%% A=-6.42x10"% A=-0.0334  A=-0.0156 A=0 A=9.20x107%° A=-2.08x10" A=-2.08x107% A= 4.46x10°%% A=9.19x10™® A=-2.09x10" A=-2.09x107%
p=1.0000 p=1.0000 p=0.4509 p=1.0000 p=0.3367 p=0.6442 p=0.5582 p=0.3531 p=0.3159 p=0.3585 p=0.3585
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control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA
n=13 n=13 n=12 n=15 n=5 n=7 n=13 n=13 n=12 n=15 n=5 n=7 n=14 n=14 n=12 n=15 n=7 n=7
preterm term preterm term preterm term
BCL6 Chr3 187,459,341 BCL6 Chr3 187,459,360 BCL6 Chr3 187,459,410
A=-5.83x10"%* A= 1.05x107°3 A=-1.05x10"%* A=-1.05x10"%* A=-4.52x10"%% A=-3.61x10™% A=-2.10x10"%% A=-2.10x10™% A=-0.0620  A=-0.0273 A=-0.0107 A=-0.0217
p=0.3560 p=0.9539 p=0.6442 p=0.5582 p=0.3560 p=1.0000 p=0.6442 p=0.5582 p=0.8878 p=0.6047 p=0.9571 p=0.1613
100 100 100
s < s
< 804 < 804 < 804
c c c
e o o
© © ©
> 60 =, 60 >, 60
= = =
= = =
< 40 < 40 < 40
Z Z Z
() () ()
20 20 20
0- 0- 0- E i I— ——
control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE+SGA control PE PE+SGA
n=13 n=13 n=12 n=15 n=5 n=7 n=13 n=13 n=12 n=15 n=5 n=7 n=18 n= 16 n=17 n=19 n=8 n=9
preterm term preterm term preterm term
BCL6 Chr3 187,459,421 BCL6 Chr3 187,459,430 BCL6 Chr3 187,459,432
A=-0.0739  A=-0.0282 A= 1.15x10"%° A=-9.71x107% A=-0.0742  A=-0.0288 A=-8.19x10"%* A=-0.0125 A=-0.0584  A=-0.0271 A=—4.64x10"°%A=-0.0148
p=0.3144 p=0.3395 p=0.2770 p=6.46x10"" p=0.1905 p=0.8655 p=0.1408 p=0.5822 p=0.3293 p=0.0368 p=0.8880 p=0.3098
100 100 100
s s s
< 80 < 80 < 804
c c c
o e o
< < <
> 607 =, 60 =, 60
= = =
= = =
< 40 < 40 < 40
Z Z Z
(@) () ()
20 20 20
control PE PE+SGA control PE PE+SGA control PE+SGA control PE PE+SGA control PE+SGA control PE PE+SGA
n=18 n=16 n=17 n=18 n=8 n=9 n=18 n= 16 n=17 n=19 n=8 n=9 n=18 n= 16 n=17 n=19 n=8 n=9
preterm term preterm term preterm term



BCL6 Chr3 187,459,435 BCL6 Chr3 187,459,441 BCL6 Chr3 187,459,444

A=-0.0702  A=-0.0341 A=-0.0121  A=-0.0193 A=-0.0738  A=-0.0384 A=—1.14x10"2% A=-9.24x107° A=-0.0756  A=-0.0481 A=—1.55x10"% A=-9.04x107
p=0.2608 p=0.9100 p=0.7567 p=0.9612 p=0.1571 p=0.2078 p=0.2295 p=0.9199 p=0.6467 p=0.3209 p=0.4311 p=0.7524
100 100 100
< s s
< 80- < 80- < 80-
c c c
o e o
< < <
> 607 =, 60 =, 60
= = =
= = =
< 40 < 40 < 40
Z Z Z
() () ()
20 20 20
O_ E e —— i i e - O_ a e —— i S — L ] - O_ a e —— E S — e -
control PE+SGA control PE PE+SGA control PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA
n=18 n= 16 n=19 n=19 n=8 n=10 n=18 n= 16 n=19 n=19 n=8 n=10 n=19 n=17 n=19 n=19 n=8 n=10
preterm term preterm term preterm term
BCL6 Chr3 187,459,459 BCL6 Chr3 187,459,474 BCL6 Chr3 187,459,479
A=-0.0868  A=-0.0511 A= 3.53x10"%°% A=-7.86x10""° A=-0.0643  A=-0.0475 A=—2.07x10"°3 A= 0.0138 A=-0.0699  A=-0.0496 A=—4.60x10"2%A=-0.0119
p=0.1330 p=0.3255 p=0.3720 p=0.1441 p=0.0204 p=0.9464 p=0.6201 p=0.7128 p=0.6678 p=1.0000 p=0.7086 p=0.9803
100 100 100
s < s
< 80- < 80- < 80-
c c c
e o o
© © ©
> 60 =, 60 >, 60
= = =
= = =
< 40 < 40 < 40
Z Z Z
() () ()
20 20 20
0- i R — i —— e 0- E 0 s ————e— e——— 0- i —— i L R ——— —————
control PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA
n=19 n= 17 n=19 n=19 n=8 n=10 n=18 n=16 n=19 n=19 n=8 n=10 n=18 n=16 n=17 n=19 n=8 n=9
preterm term preterm term preterm term
BCL6 Chr3 187,459,481 BCL6 Chr3 187,459,488 BCL6 Chr3 187,459,534
A=-0.1083  A=-0.0576 A=-0.0111  A=-0.0229 A=-0.0636  A=-0.0441 A=-3.46x10"°%A=-0.0116 A=-0.0273  A=-0.0134 A=-0.0142 A= 4.00x10%*
p=0.3590 p=0.8412 p=0.3748 p=0.1443 p=0.1201 p=0.4438 p=0.2965 p=0.7959 p=0.5506 p=0.5409 p=0.1591 p=0.4982
100 100 100
s s s
< 80- < 80- < 80-
c c c
o e o
< < <
> 607 =, 60 =, 60
= = =
= = =
< 40 < 40 < 40
Z Z Z
() () ()
20 20 20
0 i s . —— 0 E L e—— 0 ; e R
control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA control PE PE+SGA
n=18 n=16 n=17 n=19 n=8 n=9 n=18 n=16 n=17 n=19 n=8 n=9 n=18 n=19 n=17 n=19 n=8 n=9
preterm term preterm term preterm term
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BCL6 Chr3 187,459,573

A=-0.0266 A=-0.0310 A=-0.0272 A=-5.33x10"%
p=0.5898 p=0.9315 p=0.5543 p=0.6505
a i —— _—— —
control PE+SGA control PE PE+SGA
n=18 n= 19 n=17 n=19 n=8 n=9
preterm term
BCL6 Chr3 187,459,649
A=-0.0297  A=-0.0252 A=-0.0222  A=-6.39x10°°®
p=0.7157 p=0.4614 p=0.3171 p=0.4271
a — E— I T
control PE PE+SGA control PE PE+SGA
n=18 n=19 n=17 n=19 n=8 n=9
preterm term
BCL6 Chr3 187,459,790
A=0 A= 8.32x107%* A=-0.0130 A=-0.0130
p=0.3135 p=0.6625 p=0.4990
———
control PE PE+SGA control PE PE+SGA
n=9 n=7 n=7 n=7 n=3 n=5

preterm term

BCL6 Chr3 187,459,584

A= 0.0263 A=-0.0309 A=-0.0156 A= 4.19x107°3
p=0.1556 p=0.8856 p=0.4525 p=0.2966
100
s
< 804
c
e
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=, 60
=
O
-
< 40
Z
()
20
o- E i ——— ——— e
control PE+SGA control PE PE+SGA
n=18 n= 19 n=18 n=20 n=9 n=10
preterm term
BCL6 Chr3 187,459,707
A= 6.35x10"%% A= 2.89x107%3 A=2.67x10"% A=-7.58x10"*
p=0.2094 p=0.3908 p=0.5101 p=0.6056
100
<
< 804
c
e
<
=, 60
=
O
-
< 40
Z
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20
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control PE PE+SGA control PE PE+SGA
n=10 n=12 n=11 n=12 n=5 n=5
preterm term
BCL6 Chr3 187,459,870
A=0.0279  A=-5.29x10"% A=-7.58x10" A=-7.58x10"
p=0.3272 p=0.3404 p=0.6056 p=0.6056
100
s
< 80
c
e
<
=, 60
=
O
-
< 40
Z
()
20
0- R
control PE PE+SGA control PE PE+SGA
n=10 n=12 n=11 n=12 n=5 n=5
preterm term
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BCL6 Chr3 187,459,587

A=-3.59x10"%3
p=0.7307

A= 0.0420
p=0.2036

A=-0.0149
p=1.0000

A=-0.0416
p=0.1737

— .

control PE+SGA control PE PE+SGA
n=18 n= 19 n=18 n=20 n=9 n=10
preterm term
BCL6 Chr3 187,459,718
A= 3.83x107%% A=0.0227 A= 7.29x10"%* A=-4.07x10™%
p=0.4113 p=0.1893 p=0.5101 p=0.6056
E—
control PE PE+SGA control PE PE+SGA
n=10 n=12 n=11 n=12 n=5 n=5
preterm term
BCL6 Chr3 187,459,979
A=0 A=0 A=0 A=0
control PE PE+SGA control PE PE+SGA
n=10 n=6 n=7 n=9 n=3 n=4
preterm term
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BCL6 Chr3 187,459,989

A= 4.76x1079% A=0 A=0 A=0
p=0.2453
control PE PE+SGA control PE PE+SGA
n=10 n=6 n=7 n=9 n=3 n=4
preterm term
BCL6 Chr3 187,460,151
A=-0.1118 A=-0.2500 A=-0.2994 A=-0.3884
p=1.0000 p=0.1418 p=0.2491 p=0.1041
control PE PE+SGA control PE PE+SGA
n=10 n=7 n=7 n=9 n=3 n=4
preterm term

BCL6 Chr3 187,460,000

A= 0.0370 A=0 A= 0.0529 A=-0.0185
p=0.2453 p=0.3938 p=0.6171
100
s
< 80-
c
e
<
=, 60
=
(<}
-
< 40
Z
()
20
0- - ; - — ; -
control PE PE+SGA control PE PE+SGA
n=10 n=6 n=7 n=9 n=3 n=4
preterm term
BCL6 Chr3 187,460,304
100
<
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c
e
<
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=
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Z
()
20
O_
control PE PE+SGA control PE PE+SGA
n=1 n=0 n=5 n=3 n=1 n=1
preterm term
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BCL6 Chr3 187,460,098

A=0.0494  A=0 A=0 A=0
p=0.2898

E—

control PE PE+SGA control PE PE+SGA
n=12 n=9 n=9 n=9 n=5 n=6
preterm term

BCL6 Chr3 187,460,374

control PE PE+SGA control PE+SGA
n=1 n=0 n=5 n=3 n=1 n=1
preterm term



